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forg e for@n 5 dehat 8 ?

O R ?

(a) ~ (198),
(a) 180
(b) 120 _ (b) - (199);4
(¢) 90 (@  (200),,
e ) (201

1 =
3. R : 7. 115 logy 1024 - logg 10 + s log, 3125 =l

=12
(1+2x—x2)6=ao+alx+a2x2+...+312x %,

R

@ ao—a1+a.2—-a3+a4—...+alzm%m
R @ 0
(a) 382 ®d 1
(b) 64 (e) .2
() . 2048 d 3

d 4096 8. R x = log,(ab), y =log, (be), z = log (ca) 2,

' Fa A R 2
4 R C(20,n +2) = 020, n - 2) ¥, T n FFEH a fFrefeea

TR R ? (a) =xyz=1
(a) 18 ®) x+y+z=1
o © Q+xl+@Q+yt+Q+ 2 l=1
L @ (Q+02+Q+y2+Q+272=1
d 12
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1. Ifmatrﬁ A= [1_-—: ' liiJ wherei = /-1 4 -
then which one of the following is correct ?
(a)  Ais hermitian
(b) A is skew-hermitian
(©  (A)T + A is hermitian
@  (A)T + A is skew-hermitian
2.  The term independent of x in the binomial 6.
expansion of (;22— - ‘/;]10 is equal to
(a) 180
(b) 120
(e 90
d 72
T | (1+2x-—x2)6=a0+alx+a2x2+...+a12x12, 7.
then what is Q-ay +az—ag+a, —.. + a9
equal to ?
(a) 32
(b) 64
() 2048
(d) 4096
4. If 020, n+2)= C(20, n —2), thén what is n |
equal to ?
(a) 18
(b) 25
() 10
d 12
KJU-S-TMS (3-A)
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For how many values of k, is the matrix
g k4

-k 0 -5| singular?
-k k -1 ;

(a) Only one
(b)  Only two
() Only four
(d) Infinite

The number (1101101 + 1011011)2 can be

writtenin decimal system as

(@) (198),,
()  (199),,
© (200,

@ (201,

What is the value of

=+ 1og; 1024~ log, 10 + < log 3125 7
(@ o

(b) 1

®): 2

d 3

If x= logc (ab), y = loga (be), z = log, (ca), l
then which of the following is correct ?

(a) =xyz=1
(b) x+y+z=1

@ A+x 7+ A+ led+zl=1

@ A+ 2+Q+y)2+Q+272=1
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AT w1 WE =R 2 S S
(a) -10 @ >
b)) -14 i 2 |
W ‘ax + hy + gz |
(d -34
: (b) hx + by + fz
10. ‘ﬂﬁl-Ssxsz;-s%,?ﬁﬁﬁlﬁ‘iﬁaﬁﬁﬁaﬂﬂ-m L :
U TE R ? : ‘ 1
[ h
(a) (2x-3)(2x-9)>0 ax + hy + gz
b fz
® (©2x-3)(2x-9)<0 : () hx + by +
+ CZ
¢ ((2x-3)(2x-920 | gx +fy |
d ©2x-3)(2x-9)<0 (d f[ax+hy+gz hx+by+fz gx + fy + czl

11, TR @RE S=1(1,2,3,.J8 1| SxSWTH
gy R, xRy & wfonfia ¥ afe log, x > log, v | 14. w2 ‘ABLE' % gl #) smafe ¢ % W

T i i el U & ' ©H
FSa= L 2 d9 a8 qOY B Fht # g@n =R, :
» red B ?
(a) Had @A
(b) Hae gafEd (@ 2
(¢) = Hae HHHH b) 4
(@ st 3k Hshren Qe A
i i2 i3 . @ 8
g | ¢ 8 (8| mei= 1 % ; ‘ _
> 19 2 .16 15. ufa (5) SR gei % ghresg g #
i : : ' s1frmay TE TR ?
HAA FE ?
) 10
(a)- B
i -1 ® 15
(c0 4 (c) 20
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9 iewihe ley ; f y} B= [_21J Y R
c= BJ . If AB = C, then what is the value of
the determinant of the matrix A ?
(a -10
(b) * -14
() -24
d -34
10. If 15 < x < 45, then which one of the
following is correct ?
(@ (2x-3)(2x-9)>0
(b) (2x-3)(2x-9)<0
(€ (2x-3)(2x-9)>0
(d (2x-3)(2x-9)<0
1. TetB=1{1, 2.8 )14 relation Ron S x S is
defined by xRy if log, x > log, y when a = % Py
Then the relation is
(a) reflexive only
(b)  symmetric only
(c)  transitive only
(d)  both symmetric and transitive
12. What is the value of the determinant
R SR '
081 8 Liheve i By 15.
;9 12 ;15
@ o
(b) -2
() 4
d -4
KJU-S-TMS (5-A)
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a
Let A= |h

g
AB equal to ?

X
and B = |y |, then what is
z

h g
bt
I
[ax + hy + gz]
(a) y

[ 2]
[ax + hy + gz]

(b) |hx+by+fz

L - J
[ax + hy + gz

(c) hx + by + fz

_gx+f§r+mj

(d)  [ax+hy+gz hx + by + fz gx + fy + cz]

What is the number of ways in which the
letters of the word ‘ABLE’ can be arranged so
that the vowels occupy even places ?

(a) 2
(b) 4
() 6
d 8

What is the maximum number of poini;s of
intersection of 5 non-overlapping circles ?

(a) 10
(b)
(e)

(d)

15
20
25
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16. 3Ry 3 z ¥ srawal h gEN 4:5% I |
A pWARFNR?

(a) 18

() 19
e 21

d 23

17. n(X)+n(Y)+n(Z)—n(XﬂY)-—n(YﬂZ)-—

n(XﬂZ)+n(XnYﬂZ)
HAA TS ?

(a)
(b)
(c)
(d)
af d s A XA E TYAE M A

ﬁzﬁ%,ﬁmpi,?ﬁx%wﬁmﬁ
1 G TR ?

a+b+43
a+b+63
a+b+96

a+b+ 106

18.

(a)
(b)
(c)
(d)

p+b+60
p+b+40
p+a+60

p+a+40
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e :

ar ohf R fansa

- K, 9i&f tan A = 0 3R
tan A

1
=% |
K¢3%

19. tanZ A fFas s 2 ?

K+3

(a) 3K -1

(b) 3K 1

K_3
W 2

K+3

A

tanA%mwrﬁmmﬁi%ﬁvm,Kﬁm%dﬁﬁ
78 A aHar 8 ?

20.
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Directions for the following three (03) items : Directions for the following two (02) items :
Consider the following Venn diagram, where X, Y |Read the following information and answer the two
and Z are three sets. Let the number of elements in |items that follow :
Z be denoted by n(Z) which is equal to 90.
X “4 Let ens =K, where tan A # 0 and K = l
ﬁ tan A : 3
% 19. Whatis tan? A equal to ?
7 K+3
(a) 3K -1
16. If the number of elements in Y and Z are in
the ratio 4 : 5, then what is the value of b ? b) K-8
@ 18 e
(b) 19
Le): 583 3K -3
(c) K3
¢d) .23
17. What is the value of K+3
n(X) + n(Y) +n(Z) - n(X N Y) — n(Y N Z) g
nXNZ)+nXNYNZ?2
(a a+b+43
(b) a+b+63
(¢©) a+b+96 20. For real values of tan A, K cannot lie
between
(d a+b+106
(a) 2 and 3
18. If the number of elements belonging to neither 3
X, nor Y, nor Z is equal to P, then what is the
number of elements in the complement of X ? (b) 1 and 2
2
(a) p+b+60
(b) p+b+40 (c) %andS
(¢) p+a+60
1
(d p+a+40 (d) FandT
KJU-S-TMS (7-A)
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v &
st 3 (02) WA 3 forg G : : 24. A M B R =E'*'=ﬁ'“‘ s 38 2B 2 |
A TIeTIea m#qﬁqaﬁ(ﬁ T #m%m cosZB=3sin2A3ﬂ( 3 sin 2A = 2 sin

' ?

o ' (A + 2B) %1 UM 1 8 ?
mcnmm(m)mw%ﬁﬁm :
ﬁtcnwiatia?rtlacaqqtaa%|m @

e _ ADB = 6, 2 ABD = a, BC = p 3R
CD=q? | = %
91, fr=fufes w faem T : ( ;
1. AD sin 6 = AB sin o c) 3
2. BDsinB:ABsin(9+a) :
mﬁﬁaﬁam@uﬁ%}i? @ 3
(a) Had 1
® . 25. sin3x+0053x+4sin3x—3sinx+
© 13ﬂt2ﬁ=ﬁ 3cosx—4cos3x
@ AMLAR2 s SO R ?
0
99. AB e sU= R ? (a)
® 1
(p% +q%)sin O '
o pcosB+qsin® (¢) 2sin2x
} ' d) A4cosdx
®) (pg-qz) cos 0 (d)
pcos®+qsinf
26. y=2+msx%m%wﬁ(ﬁﬁ:)mm
(p2+q2)sin9 e ¥ p %?
& qcos 0+ psinb Fiawe # fera
(a) [0,1]
(p2—q2)c056
o qcos+psin® ®) [0,38]
(c) [_1, 1]
cos 17" —sinl7’ % a o H HH
3 ’ 1,3

» E[fa sl cos17° +s8in 17’ @ 1,3

TR ?
27. 8cos 10°. cos 20°. cos 40° A TR ?
B (a) tan 10°
o (b) cot 10°
b P (¢) cosec 10°
td) 62° (d) sec 10°
KJU-S-TMS (8-A)
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Directions for the following two (02) items : 24. A and B are positive acute angles such that
Read the following information and answer the two cos 2B = 3 sin? A and 3 sin 2A = 2 sin 9B,
items that follow : What is the value of (A + 2B) ?
ABCD is a trapezium such that AB and CD are ) i®
parallel and BC is perpendicular to them. Let o B
4ADB=9,£ABD=a,BC=pandCD=q.
¥ R -
21. Consider the following : 4
1. ADsin6=ABsina , .
: - 3
2. BD sin 6 = AB sin (0 + )
Which of the above is/are correct ? (d) %
(a) 1only
25. Whatis
b 2
e oy sin 3x +cos 3x + 4 sin®x — 3 sin x +
(c) Both1and?2 3 cos x — 4 cos® x
(d) Neither 1 nor 2 equal to ?
22. What is AB equal to ? R
m 1
@ ®* +q?)sin0
p cos 0 + q sin O (¢ 2sin2x
(d) 4cosd4x

(b) (p? -q2) cos 0
pcosO+qsinf

26. The value of ordinate of the graph of

& (pz " qz )sin 0 Yy=2+cos x lies in thelinterval

qcosEHl-psinB (@ [0, 1]
@ (p2 = q2) cos 0 (b) [0, 3]
‘ o e @ [1,83]
23, Iftan o= 208 17 ~sin17 , then what is the
cos17° +s8in17°
i 27. What is the value of
; 8 cos 10°. cos 20°. cos 40° ?
(a): '0°
(a) tan 10°
(b) 28°
(b) cot 10°
(¢) 38°
(e) cosec 10°
(d) 52°
(d) sec10°
KJU-S-TMS (9-A)
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& (03) TvT & forg FAger:
28. cos48°—c0512°371’-'l'ﬁm'3? Tt ( | ‘
> JE-1 et T F) aRY R S @7 T F
- 4— I AT
1-35 o i e :
i ’ asin2x+bcoszx=c;bsin2y+aoos =
(©) J6 +1 3 ptanx=qtany ® |
c =
2 .
J5 31. tan? x TG aUEL & ?
1-5
(d) 5 S
(a) Yor
29 Araffga s @ fem A

L aft ABC wH wwwm Buw }, AW ®) a-—c

c—a
cosecO=3% | (¢)

2. ﬂﬁbcosB:ccosC%aﬂTﬂﬁﬁgﬂ i
ABC gwaw fryw 7d 8, @ ABC ¥WHE|  (d)

c—a
. & gufger Fye g =R |
S woell ¥ B T R oA i::mw%?
(a) Wad 1 :
2
(b) Had 2 (a) sin®y
(¢ 13 2gH - o i
@ Far 1,782 o
. _ ;
30. Frfifiad woel W faem A ; | (d cot?y
1. 'ﬂﬁﬁa‘d"ﬁ’jﬁABCﬁ,A=2Baﬂ'(b=c p? 2
A NTEE stfereiofta Bngst &0 | 33. A fepereh sTa
2 ?{maﬁiﬁzﬁmcqﬁ%ﬁqﬁA=m°, e (b_:l))((b__d;
: -d)(a-c
B = 65° 3 2 =sin 40° cosec 15°8 | (a
. v ®) (a—d)(c—a)
I HoEl A B T R 2 (b-c)(d-b)
o o Gme-s
(b)  hadA 2
1 3R 2 @M g ©-0G-d
v ( (c—a)(a—d)
@ dAMLAR2 Y(a —d)

‘ =i
KJU-S-TMS (10 _ )
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28. What is the value of cos 48° — cos 12° 7 Directions for the following three (03) items :
{7 Read the following information and answer the
(a) : 54_ three items that follow :
7 Let asin2x+bcoszx=c;bsm2y+aw32y=d
(b) 1-'45 and ptanx=qtany.
JB+1 31. Whatis tan?x equal to ?
(c)
2 i
@ & :
1-5
(d) 5 :
(b) : _;
29. Consider the following statements :
1. If ABC is a right-angled triangle, @ = ‘;
. v 4
right-angled at A and if sin B = 51-, then
cosec C = 3. @' b
c—a
2 IfbcosB:ccosCandifthet:riangle
ABC is not right-angled, then ABC must s
be isosceles. 32. Whatis e equal to ?
Which of the above statements is/are correct ? e
e et oy
(b) 2 only (b) cos?y
(¢) Both1and2 @ tandy
(d) Neither 1 nor 2
(d cot’y

30. Consider the following statements :

2
1. If in a triangle ABC, A = 2B and b = ¢, [33. What is P equalto?
then it must be an obtuse-angled triangle. q

2. There exists no triangle ABC with A = 40°, @ (b=ec)(b-d)
B = 65° and % = sin 40° cosec 15°. (a-d)(a-c)
ich of the abo ts is/ ot ? @) a-dEoa)

Which of the above statements i are correct 7 B —clid-5

(a) 1onl

” iy © (d—a)(e—a)

(b) 2only : (b-c)(d-b)

(e) Both 1 and 2 @ (b— e)(b-— d)

(d) Neither 1 nor 2 (c-a)(a-d)

KJU-S-TMS (11-A)
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st i (03) TV @ forg AT : sy} # (03) VAT & forg AT :
ﬁnﬁﬁﬁmﬁﬁv@qaﬁmﬁwﬂ%ﬁnﬁﬁ?wﬁﬁmaﬁraﬁ#m%
v S IR 2w :
= =15°%|
WEﬂ'ﬁQ%tn=sinn9+cosn9%I. A ofiforg 76 o = p
| 317. sina+cosB$TﬂﬂTﬂT'g?
34. 3-% frmh e ?? ‘
ts —t7 3
(a) .3
i
3 b —$h
242
ts
b 23
t 242
© =
g T
t J2
(d) t—l
: 38. sin To— cos TP 1 WH F R ?
(a) —-15
85. t2—ty ThEH TR R ? |
: |
(b) sin 20 s _{_3—
() 2cosB S0
d  2sin0
‘ o &
36. tma“"ﬁw%"‘ﬁhw%? 89. sin (o + 1°) +cos (B +1°) fopoh SUS R ?
o 72 (a) -J§cos1°+sin1°
® b 3 cos1°— = sin1°
y 2
© Ilé © 71_2-(J§cos1°—_sin1°)
: 1 et
ity @ I (fBeos1+sinl?)
KJU-S-TMS (12-A)
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Directions for the following three (03) items : Directions for the following three (03) items -
Read the following information and answer the |Read the following information and answer the

three items that follow : three items that follow -
Let t =sin"@ + cos® 0. Let o =B = 15°,
37. What is the value of sin a + cos 57
34. What is b3 ~ts equal to ? y 1
b5 —t7 (@ —
. V2
3 (
, 232
t
(T
t5 (c) _‘fi
2.2
ts
(c) t N ﬁ
J2
) :—1 ,
4 38. What is the value of sin 7« — cos B ?
|
(a) —
35. What is t12—- to equal to ? V2
1
b)) —
(a) cos26 P~
(b) sin 20
(c) —Ji
() 2cosH 2J2
(d 2sin6 J3
@ —=
V2
36. What is the value of th where 6= 45°? 39. Whatis sin (o + 1°) + cos (B + 1°)' equal to ?
(@ 1 (@ V3 cos1° +sin 1°
1 1
(b) 7y () J3cos1°— 3 sin 1°
1 1
ik ©  =(/3cos1°-sin 1)
L 1
32 (d) 5 (V3 cos 1° + sin 1°)
KJU-S-TMS (13-A)
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40, Af2 sinx+siny=cosy—cosX E‘T, i

41.

KJU-S-TMS

' o<y<x<gg,zﬁm[x-3’]mm

2
22

&) .0

1
(b) 3

fe) - A2

d 2

AR A, 3 x 5 () 1 T AR § 3
B,axaaﬁﬁwqasam{s%,?hwaﬂtm
iﬁﬂﬁwm:Wﬁ'ﬁ?

(a) 3x3 3 3x3

(b) 3x5 I 5x3

(¢ 3x3 I 5x5

@ 5x3 I 3x5

a2 p?, o2 3 12 (T p, q, r >0 F) TR A
Gp) § & @ F=fafea ﬁ.ﬁ PHEA T
2E? '

1. p,q3R - I G T |

9. Inp,lnq3N In r @HR IR AP)H § |
£ R e e F T FER IR A :
(a) Had 1

(b) A 2

(© 13 23Ht

@ T@LAR2

(14-A)

43. TR cot o 3 cot p THIH x2-3x+2=0%

q@%,a‘Tmmwﬁmﬂ:mN
(a) %

1
(b) 3

) 2

d 3

o 3l p foreht T wefie % q@ & S Het

a+|3=u2+|323‘?ﬁ aB:azﬁza'ﬁ'{nga?ﬁg |
@ fura Tt Y EE R ?

(a) O

b 2

) 3

d 4

R PR L g B

1+iv3
VTS T 8 ?

(a) 240°
(b) - 210°
(e) 120°

(d 60°
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40. If sinx+siny= €0s y — cos X, where
O<y<x< -E,thenwhatistan [}_;_y] equal
to ?

@ o
1
b i3
(b) 2
el v q
d- -2

41. If A is a matrix of order 3 x 5 and B is a
matrix of order 5 x 3, then the order of AB and
BA will respectively be
(a) 3x3 and 3 x 3

- () 3x5 and 5x3
() 3x3 and 5x5
(d 5x3 and 3x5
42. If p? g2 and r? (where P, @, r > 0) are in GP,
then which of the following is/are correct ?
1. P, q and r are in GP.
2. Inp,inqandinr arein AP.
Select the correct answer using the code given
below :
(a) 1only
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
KJU-S-TMS
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43.

45.

(15-A)

If cot o and cot B are the roots of the equation
x2 ~ 3x + 2 = 0, then what is cot (¢ + B) equal
to ?

1
(a) —2-

1
(b) 3
) =2
i =3

The roots o and B of a quadratic equation,
satisfy the relations o + B = o2 + p2 and
ap = a?p2. What is the number of such

quadratic equations ?

(@ o
b) 2
(e 3
@ 4

What is the argument of the complex number

l-i‘/g,whereiz J-1?
1+iV3

(a). 240°

(b) . - 210°

(c) - 120°

(d 60°
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46, oty g 80+isn0 i JC1 R, W

cosO—isin®
7T TR 2

(a) %
@ 1

3
(c) E

d 2

47. (1, 2,3, 4) % 3@ IvageEl ® faEm Hi |
3 Sfrg Soegedl § @ Rt @=E ()

Aferag=E & ?
a): b
(b) 6
@y 7

@ 8

m.meﬁﬁq%p,qaﬂtreﬁﬂm-m
(ﬁa)qammﬁﬁé@ﬁiiuﬁ.

p: 9 T

D=qrp%,'€ﬁﬁ'l=l’%lﬁ§'ﬁﬁ'a

r P q
FHH TH FE 2 ?

(a D<O
() D<O
¢ D>0

d D=0

KJU-S-TMS

(16-A)

49.

50.

51.

52.

9 (1 + 0? F x H AAE (Tt gg) =@t F
war fear o & @ 3@ wER # sifem O
gwiaﬁwiﬁww%?

(a) 256

(b) 512

(¢) 1024

d 2048

FR 3 9@ T FoEIiE AegE F wed |
frefafige w fmm Hifse

1. A(adjA)=(adjA)A

2. |adjA| = |A|

S e A DA/ T R 2

(a) ad 1

(b) Had 2

(© 13 23H

(@ Ta 1,982
iﬁ(x—2a)(x—2b)+(y—2c)(y—2d)=0$T
FHg PATT R ?

a) (28, 2¢) .

~(b) -(2b,2d)

(c) (a+b;c+d)
(d (a-b,e—-d)

fag (1, -1) Foreft =t =1 o ol @ | ot
uw faol % i 3x + 2y = 5 8, @ G

 fereput = wefieTo T R 2

(a) 8x-2y=5
bh) 2x-3y=1
(c) 2x—3y=5
d 2x+3y=-1
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46. What is the modulus of the complex number | 49,
—————meﬂsfne.wherei: T
cos 0 —isinf
(a) 2
(b) 1
3
{c) E 50.
@ 2
47. Consider the proper subsets of {1, 2, 3, 4). How
many of these proper subsets are superset of
the set {3} ?
(@ b
(b) 6
(c) 7 51.
(d 8
48. Let p, q and r be three distinct positive real
P q r
numbers. If D = (q r P |, then which
r | R, 52.
one of the following is eorrect ?
(8) <D<0
() D<oO
(¢) D>0
(d D=0
KJU-S-TMS (17=A)

Download More Papers From GovtJobsAlert.In

What is the sum of the last five coefficients in
the expansion of (1 + x)° when it is expanded
in ascending powers of x ?

(a) 256
(b) 512
() 1024
(d) 2048

Consider the following in respect of a
non-singular matrix of order 3 : ]

1. A(adjA)=(adjA)A

2. JadjA| = |A|

Which of the above statements is/are correct ?
(a) '
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

The center of the circle :
(x—2a) (x-2b)+(y-2c)(y-2d) =0 is

(@ (2a,2)
(b) (2b, 2d)
() (a+b,c+d)
(d (a-b,c-d)

The point (1, —1) is one of the vertices of a
square. If 3x + 2y = 5 is the equation of one
diagonal of the square, then what is the

equation of the other diagonal ?
(a) 3x-2y=5

(b) 2x-3y=1

() 2x-3y=5

(d 2x+8y=-1
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53. 7w efm & Pxy R aﬁqas'i.mmﬁqﬁﬁmcqmﬁga%wﬁmz,s)
25x2 + 16y2 = 400 W ¢ fig ® 1 AR QO, ) 3 E(5, 9) RS g3l AB 3R ACH neg-fag
s RO, -3 2 Rig & @ PQ + PR) FFE %, A Yo BC % TS 1R ?

T R 2 - (a) 8
@ 13 ® 10
() 10 o) 18
(c) .8 @ 14
(d 6

58. af: fig (0,1 Y@ 3x — dy — 5 = 0 T T MY

54, afe Y@l x+2=0 y+2=0 3 < BT (3, 1) R, A kH A R ?

kx+y+2=oﬁaﬁﬁgamqﬁ%a(-1,—1)%,
A K HE TR ?

(a)

(a) -1
(c)

(d)

3

® 4

by “xa 3
6

(&)

@@ 2
59. mi@aﬁ%aﬂaﬂaﬁﬁaﬁww%,ﬁﬁ

55. TEeE y? = x §, Wid ¥ TR ATl I x-AE e 2 - /3 32+ V3 B2
i i oI & g g e F A FN R 2 (@) 105°

(a) sin®.sec’® (b) 120°
(b) cosB. cosec? 0 (c) 135°
@ 150°

(c) cotB. sec? 0

(d) 2 tan 0 . cosec? 0
60. af 3x— 4y -5=03W 3x — 4y + 15 = 0 et

a6 wE g & % i £,
se. fea sfwdu % s, g @, b), @ @ I Ly !

a1 SFAwe T4 8§ 2
(a—c,b—q) @& 22
(a) gt 'ﬁTg
(a) ab=cd
() 9 FHIE
(b) ac=hd
© - ke (© 167 TR
(d) abe=d @ 2591 gHE
KJU-S-TMS (18-A)
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53. Let P(x, y) be any point on the ellipse | 57.
25x + 16y2 = 400. If Q(0, 8) and R(0, - 3) are
two points, then what is (PQ + PR) equal to ?

(a) 12
(b) 10
(0 8
d 6

54. If the circumcentre of the triangle formed by
thelinesx+2=0,y+2=0andkx+y+2=0 58.
is (-1, 1), then what is the value of k ?

(a) -1
(b) -2
v R
d 2

55. In the parabola, y2 = x, what is the length of

the chord passing through the vertex and N

inclined to the x-axis at an angle 0 ?

(a) sin6.sec?g

(b) cos6.cosec?9

() cotH.sec?0

(d) 2tan@.cosec?d

60.

56. Under which condition, are the points (a, b),

(c,d)and (a—c, b-d) collinear ?

(a) ab=cd

(b) ac=hbd

() ad=he

(d) abc=d
KJU-S-TMS (19-A)

Let ABC be a triangle. If D(2, 5) and E(@5, 9)
are the mid-points of the sides AB and AC
respectively, then what is the length of the
side BC ?

(a) 8

(b) 10
© 12
@ 14

If the foot of the perpendicular drawn from the
point (0, k) to the line 3x — 4y-5=0is(3, 1),

then what is the value of k ?
(a) 3
(b) 4
e 6
d 6

What is the obtuse angle between the lines
whose slopes are 2 — /3 and 2 + V32

(a) 105°
(b) 120°
() 1356°
(d) 150°

If 3x -4y -5=0 and 3x -4y +15=0 are
the equations of a pair of opposite sides of a
square, then what is the area of the square ?

(a) 4 square units
(b) 9 square units
() 16 square units

(d) 25 square units
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‘ %@IZ-WW@
%mﬁaﬁlﬁw%ﬁm%.mmwmﬁww
i :ﬂﬁéu _g 8 W % o W WS L RCLES 5![?!2(sa:r§)m’aaﬁtxy-aaaa

6x-3y+2z—4=oaﬁmsim%? aﬂim%_?
(@) 19 (@ x+y=5
® 27 ® z=5
) 3‘53-7[% ¢ z=0
@ 47518

(d x+y+z=5

fig R z_oﬁﬁﬁ-ﬂﬁﬁ,x}'—ﬁﬁﬁ@m(‘sﬂﬂ)ﬁﬁﬂ%ﬁ
62. (2,8, =G . S T

1 0 0 mx-m%mao"wmm%,ﬁ
dEGH AR ' A fpeh ST 2 2
(a) 6P B o
(b) 538 _ : 2
_(C) 3-53;'-5% 1 ﬁ‘;‘_;
@ 2% 2
63. afe fFeh Y@ & fip-3gua ' (@ ihf]
<a+b,b+c,c+a>§,?ﬁ3‘ﬂiﬁﬁiﬁﬁm : :
¥ Tl %1 ATES F1 8 ? : @ 1-;@]

(a) (a+b+ c)2

gl ol 617. md’rﬁq%z&ﬁmﬂ(m/@a)ﬁ@tm

© 3 | fagd 5 |OA | =128, vl oqmfig 1 3R
OA x-378 3N y-3181 F WY FHA: 45° I 60°
@ 1

=1 F01 ST 2, A OA e sre ® 7

M-Wﬁ(@@f@")ﬁﬁmmw @ 6 +6)t 2k

IqEe] # fawfa @ & 2 2 / ;
(b) 6i +642 ) 6k
(a) 2 ~ B ,
i (c) 6\@? +63 + 6k
8 A A A
2 d 8v2i +8jt 6k
@ 16 . _
KJU-S-TMS (20-A)
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What is the length of the diameter of the
sphere whose centre is at (1, - 2, 3) and which
touches the plane 6x — 8y + 2z — 4= 0 2

(a) 1 unit

(b) 2 units

() 3 units

(d) 4 units

What is the perpendicular distance
from the point (2, 3, 4) to the line
x~0_y—0_z-0

?
1 0 0

(a) 6 units

(b) 5 units
(¢) 3 units

(d) 2 units

If a line has direction ratios
<a+b, b+ec, ¢ + a >, then what is the sum of
the squares of its direction cosines ?

(a (a+b +c)2

(b) 2(a+b+e)
) 3

d 1

Into how many compartments do the
coordinate planes divide the space ?

@ .2
(b) 4
() 8
(d)- 16

65.

67.

(21-—A)

What is the equation of the plane which cuts
an intercept 5 units on the z-axis and is
parallel to xy-plane ?

(@ x+y=5
(b) z=§6

() z=0

(d x+y+z=5

If 2 is a unit vector in the xy-plane making an
angle 30° with the positive x-axis, then what
. A

1s a equal to ?

A
J§i+;’i\

(a) 5

A A
Y3i-j
2

(b)

(e) ———?+‘/§‘?
2
i-v3}

d
(d) 5

Let A be a point in space such that
POAY = 135 ibere 10 i tie origin. If OA is
inclined at angles 45° and 60° with x-axis and
y-axis respectively, then what is 61& equal

to ?

@ 6i+6)+J2h

® 61 +6v2 ]+ 6k
© 6v21+6]+e6k

@ 321 +3]+ 6k
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68. T Wi v A q whewe (M) T
o} —4) +5k o 1 -2] -3k &) W
el @ P w@ T wRe & s
(firmg) TR 1 TR TR 2

(a)

72.

21
() 25
(¢ 31
(d
R |FTxBP 12D = 144 3R
1T =48 @ | T | Fruhm=mRe

36 73.

69.

(a) 3
(b) 4
() 6
(d 8
af wfew
2} —8j +k, B =1 +2) ~8k 3
3+pﬁ'ﬂﬂﬂ?’ﬂ'ﬂ§,?ﬁpmmwg?

70. 74.

a =
—
c

(a). 1

(b) -1

¢ b

d) -5

lim x+X°+%X° -3 oo% a2 2 -
x—1

x-1

71.

(a) 1
b)) 2

¢ 3

d 6

KJU-S-TMS (22-A)

@qazﬁﬁﬁro-'icm/secaﬁatﬁﬁt&ﬁ%l
zah it 3 wgY B T AR ?

(a) 4-4 cm/sec

(b) 84 cm/sec

(¢) 8-8cm/sec

(d) 154 cm/sec

lim x° -k
I‘ﬁ X—-—)k xz_k2’

k0%, Tk THRIR?

m o x N
x—>1 x-1

Eidl
(a)
(b)

(c)

B cojoo e @M

(d)

st woin kS - I [“(%ﬂ
131‘\114

233

2 34

134

wi

dx %

(a)
(b)
(c)
(d)

lim sinxlog =% fymd quen & 2
x—=>0 x2

(a)
(b)

(c)

(d)
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68. Two ad]acent s:des of a parallelogram are | 72.
21—41 +5k and 1—2_] —3k What is the
magnitude of dot product of vectors which
represent its diagonals ?

(a) Q1"
(b) 25
() 31
(d 36
- - - 9 o b

6. If |axb |®+|a.b|®=144 and
| =4 | =4, then what is | _b) | equal to ?
(8.3
(b) 4
() 6
d 8

— A A A

70. Ifthe vectors a =21i -3j +k, 74
l?: ?+23—3ﬁand?= 3+pl‘;are
coplanar, then what is the value of p?

@1
(b)) -1
() b
d -5
lim x+x?+x3 23
: ?

71. Whatis £t Y equal to ? 75.
(a¥ @]
™) .3
() 3
@ 6

KJU-S-TMS (23-A)
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The radius of a circle is increasing at the rate
of 0-7 cm/sec. What is the rate of increase of its
circumference ? -

(a) 44 em/sec
(b) 84 cm/sec
() 88 cm/sec
(d) 154 cm/sec
lim o2% -1 lim x?_k3

If _——— =

where
x—1" ya3

x>k 42 27
k # 0, then what is the value of k?

2
(a) E
4
b 4
(b) 3
8
(c) '3-
@ 4
The order and degree of the diﬂ'erential

. dy _ dy)2 3
equation kdx_J.[l+(dx dx are

respectively

(@) 1land1
(b) 2and3
(¢) 2and4
(d 1land4

. lim sinxlog(l-x) 9
Whatls x_)o‘_—x—z—— equalto d
(a) -1
(b) Zero
() -e
@) =2

e
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76. ﬂﬁﬂx)=3x2—5x+paﬂtﬂ0)aﬁtﬁ1)ﬁqﬂa
ﬁs%%,a‘rﬁnﬁ‘—rmﬁﬁaﬁﬂ-maﬁr%_?

(a) -2<p<0

M) -2<p<2

(¢) O<p<2

(d) 3<p<5b

ﬁeew=c+49¢,ﬂﬁg@ﬁﬁw%3ﬁ{
m,emqmw%,a‘twdaﬁa%m%?

1.

(a) ©do

~(b) -6de
(c) 46do

(d) -46de

78. IR px) = 4e)>* %, W jp{x)dx e ST

22

.
&) J+2in2
p(x) e
) 21+2In2)
2p(x)
r e
=) +c

@ 1+In2

KJU-S-TMS

nl4
J. (tan® x + tan x) dx T HE TR ?

0

(a) 714-
:
(b), 3
[ |
d 2

80. A e 6 y=3x2+2%| ﬂﬁx,lOﬁ
feafq Bt 10-1 8 ST 8, Ay A i

R ?
(a) 471
(b) 523
(¢) 603
@ 801
81. R fi = 20F, W xR, W x = 0 W Hed

21 2, @ x = 0 T FEH HI AH
0 B =R
1 g =ifee
2 BT ey

(a)
(b)
(c)

(@) ﬁu’f&aqﬁ%mmm

(24-A)
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n/4

What is the value of (tan® x + tan x) dx ?
0
1
(a) Z
1
B
_( ) 2
{cl-"1
(d): " 2

Let y = 3x2 + 2. If x changes from 10 to 10-1,
theﬁ what is the total change in y ?

(a 47
(b) 523
() 603
(d 801
If fix) = sinx, where x€R, istobe

continuous at x = 0, then the value of the
function at x =0

(a) should be 0
(b)
(c) should be 2

(d)

should be 1

cannot be determined

Download More Papers From GovtJobsAlert.In

76. If fix) = 3x2 - 5x + p and f(0) and f(1) are
opposite in sign, then which of the following is | 79.
correct ?

(a)  -2<p<0
(b) -2<p<2
() O0<p<2
d) 8<p<5b

77. If % =c + 469, where c is an arbitrary
constant and ¢ is a function of 6, then what is
¢ d6 equal to ?

80.
(a) Ode
(b) -6de
(¢) 46do
(d -46de
78. If p(x) = (4e)?*, then what is I p(x)dx equal
to?
p(x)
; @ TN 81.
p(x)
b DT IS
l ® a2 e
2p(x)
bt T e
p(x)
(d) Tilad +c
KJU-S-TMS (25-A)
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82, 7ashel GHIHW dy = (1 + y2) dx 1 B & 85. % y2 = 2x 3R W @1 y = x % di= TiEg &

1 BAhA T8 ?

(a) y=tanx+ec
(b) y=tan(x+c) (a) %
(¢ tanl(y+c)=x » 1
(d tanl(y+c)=2x 2
(c) —
; 3
@ 2

83. I(el°gx+sinx) cos x dx ﬁaﬁsw%?
86. AR fix) = 2x - x2 &, A fix + 2) + fix - 2) HI

sin? x oM, 39 fEufa & 9@ x =0 &, 7 Am ?
(a) sinxX+XcosXx+ 5 +c
(a) -8
s g
(b) sinx—xcosx+$mzX +c By
(© : 8
. 2
(¢) xsinX+coSX+ ool -
‘ @ 4
9
(d) xsinx—xcosx+smzX +c
817. aﬁxmynﬂmwa,a%ﬁmaam%?
7 my
84. B flx) = cos™! (x — 2) i S (i) F1 & ? P
@ [1,1] it %
m) [1,3]
mx
© 0,5l s
-2,1
(d)y & [ ] @ _ny
mx
KJU-S-TMS (26-A)
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82. The solution of the differential equation | 85.
dy = (1 +y?) dxis
(a) y=tanx+c
(b) y=tan(x+c¢)
(© tanl(y+ec)=x
(d tanl(y+c)=2x
83. Whatis J'(el"g"+sinx) cos x dx equal to ?
Sy 86.
. sin“x
(a) sinx+xcosx+ +c
- sin? x
(b) sinx-xcosx+ +c
. 2
2 sin“ x
() xsinx+cosx+ +c
sin?x
(d) xsinx-xcosx+ +c
87.
84. What is the domain of the function
fix)=cos ! (x-2)?
(a) [-1,1]
B 13
(© [0,5]
@ [-2,1]
KJU-S-TMS (27-A)

What is the area of the region enclosed
between the curve ¥y?=2x and the straight

liney=x?
1
(a) —2-
® 1
2
(C) g
a- 2

If fix) = 2x - x2, then what is the value of
f(k+2)+f(x—2)whenx=0?

(a) -8
b -4
) 8
(d 4

If xMy"™ = a™*0 then what is gy

—= equal to ?
X

(a) —HE
nx

5 i

nx
(&)
ny

e B0

mx

Download More Papers From GovtJobsAlert.In



88.

89.
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dX g s R 2 e
x (x® +1)
n
(a) lln[: ]+C
n x +1
() ln[xn:1]+c
X
n
(c) ln(x }-I—C
" +1
@ -I—Ln[x :1]+c
n X
|x— 1| %1 =8 A 17, & xe RR? 92.
(a) O
® 1
) 2
1 R |
N 4
kwasmw%ﬁa%%qix—i:—gﬂ

x%aﬁmm,@mmﬁm

22
(a) . -0
(k) 1

e 2

(d) =2

KJU-S-TMS

93.

(28-A)

fx) = e /X F foru, Frafafaa woAi w fEw

1. x=0% %eH §ad & |

2. x=0W %o JahaHE 2 |
I Syl & SE-a/3 v /R ?
(a) a1

(b) had 2

(© 13 23H

(@ TMLAE2

Sinx . cos x T JATeHaT T F41 8 ?

(a) 2
'+ ) S

1
(C) -2'
@ 2v2

» X —-X
im 3"+37 -2 Qe quewd?
x—0 b4

(a O

(b =1

(o 1

@ @ o e @ ? (Fw femw

78 ?)
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: dx
What is _ ual to ?
xx" +1) .
a :
(a) lln - +c
n (x"+1

n
() Y [x +1J+c

n
(e) ln[ = ]+c
S sl |

n
(d) 11::[‘ +1]+c

What is the minimum value of |x - 1|, where
xeR?

(a)"- -0

®d 1

(c) 2

d -1

What is the value of k such that integration of
3x? +8 -4k
- 3
rational funection ?

wit.hrespecttox,maybea

(a) 0
) 1
)r- T2

@ -2

91.

(29-A)

Consider statements for

the following

fix) = e 1%l ;

1. The function is continuous at x = 0.

2.  The function is differentiable at x = 0.
Which of the above statements is/are correct ?
(a) 1only

(b) 2 only

(c) Both1and2

(d)  Neither 1 nor 2

What is the maximum value of sin X.cosx ?

ja) 2
b 1
(c) -3
@ 2v2
s X ~X
What is th:o o )k equal to ?
(a) 0
(b)) -1

) S |

(d) Limit does not exist
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95.

KJU-S-TMS
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cot-1x % gay # (% WNE) tanlx H
S TR ?

@ -1
) =1
1
(c) < oo
X
d
W x? +1

B ulx,y)=c, Al ATHA FHEHTT
x (dx — dy) + y (dy — dx) = 0 Y HYT F &,
HEETR?

(a) x2+y’=xy+c
b) x2+y’=2xy+c

(© x2-y’=xy+c

‘@ x2-y?=2xy+c

3 cos [A+§] %1 =AqH U R 8, FE Ae R
22
(a) -3

B) =¥

)~ 10

d 3

(30-A)

97. Fr=fufas el w fEw HifT

1. S f(x) = In x S (0, o) § THAF B |

2. Wﬂx)=tanx3iﬂ'ﬂﬁ[—%,%)ﬁ
ELLich

Iudw HeE § @ Ha/E AR 2

(a) Haa 1

(b) Had 2

© 13R 28mi

(d @ 1L,AE2

y = ll%m%ma,mﬁa

R THE AR

@ = x e R|x # 1} ¥ ok wa (&)
Sredfas SEATEl S G ¢ |

(b) SF xeR|x#1)8, W (yeR|y=012
3 T y-318 W (0, - 1) W W FaT
2

(¢ oiA arafys Semel w1 THEd 8 3N
W The T (0} R |

@ O (x eR|x # 1) & 3 TWH y-38 W
fargadl 1 ag= 2 |

mmln[%) —x I EA TR ?

(a) y=e*+c
() y=e%+¢c
¢ y=lnxzx+c

d y=2Inx+c
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94. What is the derivative of tan~! x with respect | 97+
to cot™lx?
(a) -1
(b) 1
1
o x? +1
X
W 241
95. The function u(x, ¥) = ¢ which satisfies the | 98-
differential equation
x(dx-dy) +y(dy-dx) =0, is
(@) x%2+y2= Xy +¢
éb) »* + y2=2xy+c
(© x*-y?=xy+c
@ x*-y?=2xy+c
96. What is the minimum value of 3 cos (A+§]
99.
where Ae R?
(a) -3
b -1
@ o
d 3
KJU-S-TMS (31-A)

Download More Papers From GovtJobsAlert.In

Consider the following statements :

: The function fix) = In x increasés in the
interval (0, ).

2. The function fix) = tan x increases in the
mwwm(-g,g).

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Both1and2

(d) Neither 1 nor 2

Which one of the following is correct in respect

of the graph of y = ?

x-1

(a) The domain is {xe R |x # 1} and the

range is the set of reals.

(b) The domain is {x € R|x # 1}, the range is
{y e R|y # 0} and the graph intersects
y-axis at (0, -1).

(¢) The domain is the set of reals and the
range is the singleton set {0}.

(d) The domain is {x e R|x # 1} and the

range is the set of points on the y-axis. -

What is the solution of the differential
equation In [%J =x7?

(a) y=e*+ec
) y=ex+c
() y=inx+c

d y=2Inx+c
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100. 7 #ifi 6 v sma i = 1 3k <teE b| 103, 3R P(AUB):%, P(AnB):% i
A h e R S P(notA):%@,ﬁmﬁﬁﬂﬂﬁ?-mﬂﬁ

ST%e T8 ? e
(a) 2k2 ik
® K (a) PB)= -g
(©) '522- (b) P(A N B)=P(A)P(B)
: (¢ P(AUB)>PA) +P(B)
s kT (d) P(not A 3R not B) = P(not A) P(not B)

101. §&T137 4 3R 9 I SRERand wAS: x IR 104. n Y801 &% 2.5 ¥ AW T G 1 ITEA 50
(x— 1) & | AR I7hT FAI=T AT 6 8, W x F ® | YEOT % I wgEE H 36 @ AN MY

TR TR ? el =1 AT —508 | nHTHAA FTE ?
(8): 2 (a) 50
(b) 3 (b) 60
i 2 © 80
@ 5
(d 100

| 102.aﬁ?ﬁ?vlﬁﬂ%m¥ﬁvwméﬁﬁ
30 ¥ el oft S ul W aHE $ereh S AR :
s, @ 3@ AW E F e § 5w 2M ?, STafh 2n Y& H TH I (W) AiH

105. n Y& ¥ UH ikl TUE (W=T) H HIEA

SeTh G HE&AT 6 AW 2 =T K AT M R | EIgw SAiehel WU
SR (V=) o T R 2
. (a M
5
®.5 (b) %
1
© 2 (c) %
5 4M
@ - = ] Wl =
KJU-S-TMS (32-A)
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100.

101.

102.
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Let I be the length and b be the breadth of a
rectangle such that /+b=k What is the
maximum area of the rectangle ?

(a) 2Kk2

(b) k2

() —

@ —

The numbers 4 and 9 have frequencies x and
(x — 1) respectively. If their arithmetic mean is
6, then what is the value of x ?

(a) 2
() 3
() 4

@ 5

If three dice are rolled under the condition
that no two dice show the same face, then
what is the probability that one of the faces is
having the number 6 ?

5
(a) E

5
(b)-g—

(e)

BO |

d —

104.

105.

(33-A)

103. If P(AUB):%, P(AnB):% il

P(not A) = % , then which one of the following

is not correct ?
(a) PB)= g

() P(AN B)=P(APB)
(© P(AUB)>P(A)+ P(B)

(d) P(not A and not B) = P(not A) P(not B)

The sum of deviations of n number of
observations measured from 25 is 50. The
sum_ of deviations of the same set of
observations measured from 3-5 is - 50. What
is the value of n ?

(a) 50

(b) 60

() 80
@ 100

A data set of n observations has mean 2M,
while another data set of 2n observations has
mean M. What is the mean of the combined
data sets ?

(a M

3M
o A

(e —

d —
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108.

KJU-S-TMS

FTITH} 77 (03) TFAT & forg FAger:
Frefafaa TAsRt # aiee AR IR @T T F
W&?ﬁﬂ?:
& Trenffat it @@
ifes fasm o
10 - 20 8 10
20 - 30 11 L |
30 — 40 30 38
40 - 50 26 15
50 — 60 15 10
60 — 70 10 6
106. sitfis fawm 3t 1w § frnffE 6 @@
g =1 it feg siate # fman @ 2
(a) 20-30
(b) - 30-40
(¢) 40-50
(@ 50-60
107. Fr=fafiea st w faam Hifs

1. oo fogm # o w1 SgEs A,
 3jaue 30 - 40F @ |

o ifaes fagm o ot Y wifedes (HifeTA),
Tifora o iRt Y ATSeHT & R |

I HYA § § BA-AVE TE RE ?
(a) a1

(b)  Had 2

(@ 13 22H

(@ @172

“fiferes fag & 761 &1 weg fha B 2
38-4
39-4
409
416

(a)
(b)
(e)

(d)

109.

110.

(34-A)

(o)

J=oit -6, -5, —V4, -1,1, J4, 5, J6
=1 A foraes F= g ?

2

(b) 2

(a)

242

d 4

ﬁ%&ﬁﬁfﬁaa{x%%ﬁ
TR 2, Zxf =200 3 n = 10 &, a@ fo=wm
TOTieh T R ? '

(a) 80

(b) 100
(¢) 150

@ 200

111. 39 @ $ T Tiwa & 5 agesa 91 T

s JifEd (g ad) ¥ wEh § g9 deEn
7 2 :

(a)

o=

(b)

3| =

(c)

~3| o

d 1
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Directions for the following three (03) items :

Read the following information and answer the
three items that follow :
Marks Nul.nber of students :
Physics Mathematics
10 - 20 2 10
20 - 30 11 21
30 — 40 30 38
40 - 50 26 15
50 - 60 15 10
60 - 70 10 6
106. The difference between number of students

107.

108.

KJU-S-TMS

under Physics and Mathematics is largest for
the interval

(a) 20-30
(b) 30-40
(c) 40-50
(d) 50-60

Consider the following statements :

1 Modal value of the marks in Physics lies
in the interval 30 — 40.

2.  Median of the xﬁarks in Physics is less
than that of marks in Mathematies.

Which of the above statements is/are correct ?

(a)
(b)
(e)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

What is the mean of marks in Physics ?
(a) 384
(b) 394
(e) 409
(d 416

(35

109.

110.

111.

-A)

What is the standard deviation of the
observations

-6, -5, -Ja,-1,1, Vi, V5, J6 ?
(@ 2

b)) 2

© 242

d 4

If ¥x;=20, 2x? = 200 and n = 10 for an

observed variable x, then what is the

coefficient of variation ?

(a) 80

(b) 100

(c) 150

(d 200

What is the probability that February of a
leap year selected at random, will have five
Sundays ?

1

(a) g
! 1

(b) 7

2

(c) 7
d) . 1
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112. 100 Jeit ST THIE TET 40 % | W H, T8 A 115, A (2) TH! AW A (2) MR F b e #
Wﬁﬁ@amﬁ?ﬁma‘sywm ﬁSﬁ@mmmi|mmﬁw
N s & s v W § 2 e 3R 1 R

(a) 398 .
(b) 397 _

2
(¢) 396 O
d 395 ;
T
113. ©F & 12 1 3 fiftwd % forg w ofe i oo R |
T WETEHR 3 o Iuftud g | 9 F AW s
aﬁwﬁw%%aﬂtmﬁ%gﬁaﬁzﬁ (d)%

i 3 %1 AR 3 e @ § @
P # & fedhl s 2 22
(a) 98 & FH-A-H0 FRedt v = T ST
(b) IH ¥ Hhael TH HI & A AT
(¢) I ¥ fomelt 1 oft =& g Strwm

(@ 39 Sl I AT S 116. 18 107 Seiifea 10 R 6w wich § @
w T ) e e w1 § | w0 iRk 2

114, 7% fras & T 15 Tl ggen (Ree) w1 o P e 3R et w s s € 2
e & e @ 6 ot (GR) (T waf

15 Taut gt ¥ | 4 AgeSA FAAT & | G S

et & 6 93 T wh R e € 2 o
(a) ;11- . (b) %
® o ‘ © 12_5
6
(c) 91 e %
@ g
KJU-S-TMS - (36 —'A )

Download More Papers From GovtJobsAlert.In




112. The arithmetic mean of 100 observations is 40,

113.

114.

KJU-S-TMS
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Later, it was found that an observation 53’
was wrongly read as ‘83’. What is the correct
arithmetic mean ?

(a) 398
(b) 397
() 396
(d 395

A husband and wife appear in an intervew for
two vacancies for the same post. The
probaBility of the husband’s selection is % and
that of the wife’s selection is -;- If the events

are independent, then the probability of which
1, ;

: 35 .

(a) At least one of them will be selected

(b)  Only one of them will be selected

(¢)  None of them will be selected

(d)  Both of them will be selected

one of the following is

A dealer has a stock of 15 gold coins out of
which 6 are counterfeits. A person randomly
picks 4 of the 15 gold coins. What is the
probability that all the coins picked will be
counterfeits ?

i %
91
k1
91
i
91
15
91

(a)

(b)

(c)

(d)

116.

(37-A)

115. A committee of 3 is to be formed from a group

of 2 boys and 2 girls. What is the probability
that the committee consists of 2 boys and

1girl ?

(@) g
(b) %
(c) i:-
@ %

In a lottery of 10 tickets numbered 1 to 10, two
tickets are drawn simultaneously. What is the
probability that both the tickets drawn have

prime numbers ?

(a) —
1

(b) =

() —

il
(d) 5
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117. 7 Shfe 6 X 3R Y s Redi A ESE | 1o of A 3t B Ted 36 R ¥ £ PA) = 06,
i faet aeg A e (T ) A R 1T P(B) = 0-5 3K P(A N B) = 0-4 }, At Fr=aferfiaa
fem gon & % X = 65, Y = 67, ox = 25, ot T R R -
oy = 35 M X, V=088 | XN Y®

g (Fare) &1 Gt a4 & 2 1. P(AUB)=049.
2. P(B|A)=06.
(a) Y=0175X-5 s w4 R VA ?
b Y=112X-58 (a) Had 1
(b) HaE 2
e Y=112X-5 i R
(d Y=017X+58 NG

IIB-WW“X“WW@W 120, 97 @rdT X, Y 3k Z wF R s w1
n=109f p= 1 % ww fg der T agEw| W &, e v 5 G & 7 R (S
H 2 | 99 Y = 10 - X Tr=ell n 3R p % G @) B wiead w002, 0-03 3 0:05
g 59 1 ITEO F ¥ | T A n I ,%Iﬁﬂmﬁﬁ%mm%aﬁf%m%ﬁ

¥ W FAT: § XS 2, 30% ¥ Y Sw@1 & 3R 20% H Z
; ‘ . wEET R | X ¥ HWO BN qTel B
1 ' F9T TR ?
@) 8=
; 9
(a) —2—9-
2
g
(b) 3 he
29
3
(C) 10,%" o E
e
2 28
d . 10, = | 28
" 5 Gy i
KJU-S-TMS ; (38-A)
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117. Let X and Y represent prices (in %) of a

commodity in Kolkata and Mumbaj
respectively. It is given that X = 65, Y = 67,
ox = 2'5, oy = 356 and (X, Y) = 0-8. What is
the equation of regression of Y on X ?

(a) Y=0175X-5

(b)) Y=112X-58
() Y=112X-5

(d Y=017X+538

118. Consider a random variable X which follows
Binomial distribution with parameters n = 10
and p = —;— Then Y = 10 — X follows Binomial
distribution with parameters n and P
respectively given by

g |
5 —
(a) 5
2
b 5, =
(b) 5
3
10, —
(e) 5
4
=
(d) 5
KJU-S-TMS

119.

120.

(39-A)

If A and B are two events such that P(A) = 0-6,
P(B) = 0-5 and P(A N B) = 0-4, then consider
the following statements :

1. P(AUB)=049.

2. P(B|A9=0.

Which of the above statements is/are correct ?

(a) 1lonly

(b) Z2only

() Both1and2

(d) Neither 1 nor 2

Three cooks X, Y and Z bake a special kind of

cake, and with respective probabilities 0-02,
0-03 and 0-05, it fails to rise. In the restaurant
where they work, X bakes 50%, Y bakes 30%
and Z bakes 20% of cakes. What is the

proportion of failures caused by X ?

9

(a) 29

10

(b) 29

19

(c) 29

28

(d) 29
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wa HH & fore g
SPACE FOR ROUGH WORK

(40-A)
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w= wH & foro wrg
SPACE FOR ROUGH WORK

KJU-S-TMS (41-A)
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Fo) T & fore e
SPACE FOR ROUGH WORK

KJU-S-TMS (42-A)
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w1 & foru smTg
SPACE FOR ROUGH WORK

KJU-S-TMS (43-A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
TB.C.: KJU-S-TMS Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1 IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to mark

on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6. All items carry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. ;

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answer to every question. For each question for which a wrong answer
hasatiet;n given by the candidate, one-third of the marks assigned to that question will be d ucted as
penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
Y aﬁﬁﬂ%ﬁmmg@w%@gﬂmw% |
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